

# Inéquations. Correction

## Exercice 1

$$1) \begin{cases} 2x+3 > -5 \\ 2x > -8 \\ x > -\frac{8}{2} \end{cases} : 2 > 0$$

$$x > -4$$

$$S = ]-4; +\infty[$$

$$2) \begin{cases} -5x+2 > 6 \\ -5x > 4 \\ x < -\frac{4}{5} \end{cases} : -5 < 0$$

$$S = ]-\infty; -\frac{4}{5}[$$

$$3) \begin{cases} 11x-2 \geq 8x \\ 11x-8x \geq 2 \\ 3x \geq 2 \\ x \geq \frac{2}{3} \end{cases} : 3 > 0$$

$$S = [\frac{2}{3}; +\infty[$$

$$4) \begin{cases} \frac{5x-1}{2} > 3 \\ 5x-1 > 6 \\ 5x > 7 \\ x > \frac{7}{5} \end{cases} : 2 > 0$$

$$: 5 > 0$$

$$S = ]\frac{7}{5}; +\infty[$$

$$5) \begin{cases} -\frac{x}{2} + 4 \leq 10 \\ -\frac{x}{2} \leq 10-4 \\ -\frac{x}{2} \leq 6 \\ -x \leq 12 \\ x \geq -12 \end{cases} : (-1) < 0$$

$$S = [-12; +\infty[$$

## Exercice 2

$$1) \frac{5-6x}{3-x} \leq 0$$

$$\bullet 5-6x=0 \text{ pour } x = \frac{5}{6}$$

$$a = -6 < 0$$

$$\bullet 3-x=0 \text{ pour } x = 3$$

$$a = -1 < 0$$

$x$	$-\infty$	$\frac{5}{6}$	$3$	$+\infty$
$5-6x$	+	0	-	-
$3-x$	+	+	0	-
$\frac{5-6x}{3-x}$	+	0	-	+

$$S = [\frac{5}{6}, 3[$$

$$2) (4-x)(2x+1) < 0$$

$$\bullet 4-x=0 \text{ pour } x = 4$$

$$a = -1 < 0$$

$$\bullet 2x+1=0 \text{ pour } x = -\frac{1}{2}$$

$$a = 2 > 0$$

$x$	$-\infty$	$-\frac{1}{2}$	$4$	$+\infty$
$4-x$	+	+	0	-
$2x+1$	-	0	+	+
$\frac{4-x}{2x+1}$	-	+	0	-

$$S = ]-\infty, -\frac{1}{2}[ \cup ]4, +\infty[$$

$$3) \frac{-5x}{4-2x} \geq 0$$

$$\bullet -5x=0 \text{ pour } x = 0$$

$$a = -5 < 0$$

$$\bullet 4-2x=0 \text{ pour } x = 2$$

$$a = -2 < 0$$

$x$	$-\infty$	$0$	$2$	$+\infty$
$-5x$	+	0	-	-
$4-2x$	+	+	0	-
$\frac{-5x}{4-2x}$	+	0	-	+

$$S = ]-\infty, 0] \cup ]2, +\infty[$$

$$4) 3x^2 - 4x + 4 > 4 + x^2$$

$$3x^2 - 4x + 4 - 4 - x^2 > 0$$

$$2x^2 - 4x > 0$$

$$x(2x - 4) > 0$$

$$\bullet \boxed{x = 0}$$

$$\bullet 2x - 4 = 0$$

$$\text{par } \boxed{x = 2}$$

$$a = 2 > 0$$

$x$	$-\infty$	$0$	$2$	$+\infty$
$x$	-	0	+	+
$2x - 4$	-	-	0	+
$x(2x - 4)$	+	0	-	+

$$\boxed{S = ]-\infty, 0[ \cup ]2, +\infty[}$$